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그림 1 Imax 인가 시 단자 전압 변화 충전 방전: (a) (b)

Fig. 1 Variation of terminal voltage applying Imax: (a) charging
(b) discharging.
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Fig. 2 Battery equivalent circuit model.
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Fig. 3 Times constant variations of V1 according to SOC.
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Fig. 4 Variations of RS and Imax according to SOC.
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Fig. 5 Calculation of parameters using measured values.
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그림 알고리즘 진행 과정6

Fig. 6 Process of proposed algorithm.
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표 배터리 셀 스펙1

Table. 1 Specifications battery cell.
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Fig. 7 Voltage and current of battery based on NEDC profile: (a)

without Imax estimation algorithm, (b) with Imax estimation

algorithm.
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